Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER — VI EXAMINATION — SUMMER 2015

Subject Code: 361919 Date: 14/05/2015
Subject Name: POWER PLANT ENGINEERING

Time: 10:30am to 1:00pm Total Marks: 70
Instructions:

1. Attempt any five questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)

Use of only simple calculator is permitted in Mathematics
English version is authentic.

SN

Q.1 (a) 1. Define power plant and power station. 07
2. Differentiate central power plant & captive power plant.
3. Explain concept of national grid.
(b) 1. Methods of improving rankine cycle efficiency, explain. 07
2. Steam power plant working on rankine cycle having boiler pressure 35 bar
& condenser pressure 0.1 bar. , Temp. Of steam at turbine inlet is 350 deg.
Centi. Find rankine cycle efficiency.

Q.2 (a) Explain reheat rankine cycle with T-S & H-S diagram. 07
(b) Schematic diagram of Modern thermal power plant & explain. 07

OR
(b) List various circuits of modern thermal power plant, explain any two. 07
Q.3 (a) Explain Lamont boiler. 07
(b) Classify boiler furnaces & explain pulverized furnace. 07

OR
Q.3 (a) Explain Benson boiler. 07
(b) Explain pulverized fuel system in details. 07
Q.4 (a) State methods of governing turbine & explain any one. 07
(b) Explain effect of load variation in steam power plant. 07

OR
Q.4 (a) Explain elements of diesel power plant. 07
(b)  Explain methods of improving performance of gas turbine 07

Power plant.

Q.5 (a) 1. Difference between fission & fusion reaction. 07

2. Explain nuclear reactor in nuclear power plant.

(b) Explain boiling water reactor (BWR) & waste disposal in 07
Nuclear power plant.
OR
Q.5 (a) State types of nuclear reactor and explain Candu reactor 07
(b) 1. Explain basic elements of Hydro power plant. 07
2. Explain cost of power.
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